
K m ¿ \−−−−−−−→
diff at o

K �

x
o\ =


x\− o\
x− o

x 6= o
o

−
\ x = o

stet in o

K m ¿ \−−−−−−−→
diff at o

K
Folg

Krit
�

∧
o 6= nÆ ¥ o

nÆ\− o\
nÆ− o

¥

o

−
\ � K

{
x\− o\ = (x− o)

x
o\

o\ stet on o
�

o
o\ =

o

−
\

K m ¿ \−−−−−−→
diff at o

K � \ stet at o

nÆ\ − o\ = nÆ− o
Y [

nÆ\− o\
nÆ− o

¥ 0
o

−
\ = 0

K m ¿ \−−−−−−→
diff at o

K �

{
\a +

′

\ ′a diff at o
o

\a +
′

\ ′a =
o

−
\a +

o ′

−
\ ′a

nÆ\a +
nÆ ′

\ ′a− o\a− o ′

\ ′a

nÆ− o
=

nÆ\− o\
nÆ− o

a +
nÆ ′

\− o ′

\
nÆ− o

′a ¥

o

−
\a +

o ′

−
\ ′a

K m ¿
·
\−−−−−−→

diff at o
K �

{
\:

′

\ diff at o
o

\:
′

\ =
o

−
\:o ′

\+
o

−
\:o ′

\

nÆ\: nÆ ′

\− o\:o ′

\
nÆ− o

=
nÆ\− o\
nÆ− o

: nÆ ′

\ +
o\:

nÆ ′

\− o ′

\
nÆ− o

¥

o

−
\: o ′

\ +
o

−
\: o ′

\



¾n : =
¾a\

a � K �

¾
−
n = a

¾a
−
\

¾+ zn− ¾n
z

=

¾+ z
Y [

a\− ¾a\
z

= a

¾a + za\− ¾a\
za

¥ a
¾a

−
\

¾n : =
¾+ a\ � ¾

−
n =

¾+ a

−
\

¾+ zn− ¾n
z

=

¾+ z
Y [

+ a\− ¾+ a\
z

=

¾+ a
Y [

+ z\− ¾+ a\
z

¥

¾+ a

−
\


